
For eoch of dhe follbuding algebraic expre 33iD0: 
Orite a Suitable statemerd in 0ds 

31+8 15 The Sum of 3 and 8 1 egual to I5 

y1,2 decreased o Y s grealer hon a. 

2-7kla 2y_ decieased by _ts less hon 12 

5z :55dvided by 2_is eqAal to 5 
vGtb> 18 ia incyeaed by 2b is gaLatex thon 
) -3y=16 2 decxeasod by3y i egual ta 16. 
ii3a-Yh2113 a decreasied by yb is greater thal 

vib+2a 21 b increased by 7 a is les Hhan 2 
ixI6+ 2a)-1225, 1he Sum of K ond 2a derea by is greater than 25 

t 12)-YK3a The Sum of 3 and 12 deteae oyY is les than 



3State rue_0 talso 

6 is_a Con stant candY is a variable but 1 t 

r's Vaniablo ue 

5 has hoo terms 5 and alse 

i heexpvess ion :S +M has too terms S ond . True 

IVheexpre ssion 2at7 is a hinanial talse 

va ba tc k a tinomial 
vi X ab îs a binnmialfake-

vi ab is a binbmial Me 

vi Say+61+7 s apolnomial hue 

-Sayt61-2+H is a mulhinomial e Tue 

ne n tffiient of Yin 3zy-3als 
The CoelAent of ab in -ab is -L au Tu 

vThe Coeffiient of Yin-y is -3 false 



5tate Tmie Ox falke 

XY Cnd-N are ike terms 
and Y ane like tems Tu- 

fale Oand- a are like tems 
ba and a ab ar_aualke texms 

5 and 5 aIe ke tefms 
) H and Y2 aI mlke temn 

Falie 
abe 
Tu 



4wite doon the Coeftcent of inhe llbuare 
manomials_-

OLL 

iv 5 an Sa w 2 

0di22 9 
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